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Either like Rav or like Shmuel — BRI R 290 ON

OVERVIEW

The X 13 cited a Xn°>12 in which the P"n (i.e. 7717 ' 2"7) maintains that 731 792K
TPIAY T Npbwn 72n77, and X" 01 M maintain 7202 X9 210K5 7277 PR, Initially
the X3 maintained that the np1>m» between the p"n and *"3 was regarding namn.’
The X3 rejected this view and claims that regarding n711n they can hold either
like 27 (that it is 2°1) or like “X1mw (that it is ‘HUD),2 and their argument is
concerning 1"772 1w, as the X»3 continues.” Moo clarifies the meaning of 273 °X
DRIAWD K.
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“''% cannot agree with ®Xmw (that nmnn by 7277 >7¥ is Mwo), since " is 291
even if ate in the 2''719; how can the X3 state that regarding n7mn (the p"n and) >3 can
agree either with (27 or) xmw?!’

mooIn responds:
- 799390 MY 7Y 25UNT UMY N PN 8N YNT 299 IN 919195 NIN

But rather the X7 means to say that (the p"n and) °"7 can agree either with 29
who considers the 72177 7% (when the animal can eat only 7' ") as the =xn
»117 (and therefore 21 maintains that nnn is 21), or they can agree with Nw
who considers the 712177 7% (even when the animal can eat from it only 771 °"Y)

"The ?"n, when he said 72r777 *7%¥7 is Ap*IAY 77 2°1, means that he is 217 only when the animal went up onto the 7%
7ar17 (since it is considered a p1°37 MwN); however if the animal remained in the 12"77 and ate 72177 >7%¥7 (which is
namn) he is 7wy, in accordance with YXmMw. However 01 ' maintains that even by nmmn he is 271 (like 27). The
reason he is 27n is since 7217 X9X P1OK? 11977 7R, therefore the 72m77 7% are out of her reach and is considered mwA
P1°17 (according to '01n77 o). See ‘Thinking it over’. See 1P MR >3 how 71987 71977 PR explains why 1"772 W is 2.
* To review; according to *"wA the reason why N is 21 according to 21 is because it is 7wn (and is 21 because
of 17), while PXww maintains that it is not 711wn and therefore it is 7"772 7wd. According to N1dOIN the reason NN
is 21 according to 17 is that since the animal cannot reach the 7277 7% except through 21, the 72177 *7% are
considered P11 N while PR1Mw maintains they are still considered 1"77. See N1 77 NN on the X TNAY.
It they both hold like 27 (that n7mmn is 2°m) they argue 772177 71N (which is a 7"77) the "n says 7w» for it is W
1"772 and " maintains that 7"772 W is 27n. If they both hold like PXwaw (that narmn is 7wd), the p"'n maintains that
both 7712177 TIn1 and even 72177 *7¥7 by nn he is 71wo because they are both considered 1"717, and *01° "1 maintains
that by both 72177 7101 and 72777 7% (even NI *"Y) he is 2717 since 1"772 W is 277,
* See footnote # 3 (at the end).
5 This (question) applies to *"w1 as well, for PXmw maintains that nmn is MWD (since it is not ANwn; it is 1"712 1W);
however *"1 maintains that 7"772 2 is 2.
% See “Thinking it over’.
! According to "w1 (see footnote # 5) we can answer 273 °X (that it is 17p) and PXmw> °X (that it is 12).
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Even though that according to >''9 there is no difference whether the 7an77 7% are
considered a °"717 or a °'"'777, since °"1 maintains that 2"772 1 is 2.
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And according to s'>''w9 explanation (that N7 is 211 according to 27 because it
is 71wn and is considered 17p) it is better understood, that 292 "X means that it is
considered as 179 (and therefore he pays a 1'nm) and »Rw> X means that it is
considered as @ (and he pays a v"3).

SUMMARY

The meaning of PX1MW3 >k 273 °X is whether the ;727177 >7% are considered a >"71 or a
7"77, or (according to *"w7) whether N7 1s 172 or jw. However in any event 01" "
cannot agree with PX1Ww, since *"1 is 1"772 1w 2.

THINKING IT OVER

Moo writes that HX1w2 °K means that *01° " can agree with PXmw that 72777 >7%
are considered a 7"77 (and nevertheless he is 20 for 7772 W is 27n).'" However,
seemingly *"1 cannot agree with 2X1w that 72r97 *7% that can be reached only "y
T is considered a 1"77, for °"9 states 72777 XX 21982 171977 1°X, which means that
since 198Y 71977 PR the 7377 *7% have the status of the pri1 mw-;'? how can we
say that >"9 agrees (in principal) to 9w that 72m77 *7¥ is considered a 7"77?2!"

¥ According to the p"n there will be a difference, for if he agrees with 21, he will be 2»m by namn and if he agrees
with 2% he will be Mo by narmn.
? See footnote # 2.
' According to mooIn there is no difference to °0v "1 whether he agrees with 27 or YXmw, for in either case he pays a
w"1, since 1w is 1"772 21, However according to *"wA there is a difference whether >"7 agrees with 17 (he will pay
only a 1"m) or 2XmWw (where he pays a w"3).
' See footnote # 6.
2 See footnote # 1.
13 See 5" mvon and TP MR AT ono M.
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